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icate full marks

for the questions

1. Answer/Choose the correct one : 1x8=8
(a) National Income is measured as
NS GNP - Indirect taxes
+ Subsidies
(i) NI= NNP - Indirect taxes
+ Subsidies
(iii) NI = NNP - Indirect taxes
— Subsidies
(iv) NI = NNP — Subsidies
+ Direct taxes
(Turn OU@T}
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(b) Which

(2)

of the following statements

acc i
urately describes disposable income?

()

(i)
(iii)

(iv)

(c) Keynesian theo
nation is

(1)
(i1)
(iii)

()

The incom i
e which a
person saves
after all expenditures

The i :
€ iIncome which a person spends

Th i
inccz mdlfference between personal
€ and personal direct taxes

T :
he total income a family earns

Ty of income determi-

short period analysis
ong-term analysis

shortrun - as  welr

analysis as long-run

None of the e

(d) Margi
exprgﬁl:lsalapropen‘sity to consume
€d symbolically ag o

()
(i)

(iti)

MpC = C
¥
MpC = AC
AY
Mpc = C_AC
Y Ay

(%) Honcor the abov
e

14P—4500/891

( Continued)

(3)

(e) Parmanent income hypothesis was given

by

() Adam Smith

(i) Milton Friedman

(iij) J. M. Keynes
(iv) Alfred Marshall

(f) State
size

(g) 1S-LM analysis is rela

the formula used to determine the

of the investment multiplier.

ted to the

(i) classical economists

(i) new classical economics

(iii) Keynes
(iv) Hicks

(h) Balance of payments
accoun

()

(i)
(iii)

(iv)

(BoP) is an
ting record of

ransactions between

all monetary t
t of the world

a country and res
all transactions within the country

all informal transactions between a
and rest of the world

country

all external transactions of 2

country -
('Turﬂ over)
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(4)

2. Wri |
(wril:; .shor_t notes on any four of the following
in 150 words each) : 4x4=16

(@) Circular flow of National Income
(b) Life cycle hypothesis

(c) Aggregate demand function

(d) Marginal efficiency of capital

(e) Economic openness

Answer the followi :
each) : ng questions (within 500 words

3. (a) How is Nati
Explai: tll\lr:tlg?f?‘l Income calculated?
iculties in i ‘
measurement. culties in its correct

j 4+8=12
Or
(b) Distingui |

) Distinguish between the following :
4x3=12

H G :
ross valye addition and Net value

addition

factor price et price and NNP at

(ii)  Nomina] and Real GD |
P
4. (a) Explaj
itspr::vfay’s _law of market
nee in g monetalys.eEvaluate
conomy.
6+5=]_1
14P—4500/891
( Continued )

(b)

5. (a)

(b)

6. (a)

(b)

7. (@)

(5)

Or

Explain the determinants of aggregate
demand and aggregate supply. How do

they determine equilibrium income?
7+4=11

(i) Ilustrate the concept of investment

function. 3)
(i) Define marginal efficiency of
capital. Discuss the factors that

determine the marginal efficiency of
capital. 2+4=6

Or

e working of investment

What are the leakages of
8+3=11

Explain th
multiplier.
investment multiplier?

Compare the liquidity preference theory
with classical theory and neoclassical
11

theory of interest.
Or

comparative effectiveness of
in IS-LM

Examine the
d fiscal policies 1

monetary an
framework.

closed economy- Make 2

alysis on the advantages

f closed economy:
3+8=11

Define
comparative an
and disadvantages 0
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(6)

Or

(b) (i) Distinguish between the current
and capital account of the balance
of payments. 4

(i) Explain the measures adapted to
remove the deficits in the balance
of payments. ; 7

* & &
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